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[bookmark: _Ref178064866]Introduction
During RAN2#105 meeting, RAN2 discussed an issue on the mismatch of the ROHC. The details for discussion are listed below
R2-1901798	Discussion on ROHC for V2X	LG Electronics Inc.	discussion	Rel-15	LTE_eV2X-Core
	[OPPO]: Agree with the intension. With the proposoed solution, how to differentiate two set of ROHC profiles? Instead we can specified ROHC (with the fixed set of ROHC profile) is always applied if “000” is set. [Ericsson]: It’s legacy problem from Rel-12 SL communication, why it is now raised for V2X communication? 
·  We will try to fix this issue from Rel-14 V2X communicaiton. 
·  [Offline#710]: Discuss possible solutions and decide one. (LG, R2-1902490 for discussion and R2-1902491 for the corresponding CR)

In this contribution, we list the solution for solving the problem on the mismatch configuration of the ROHC. 
[bookmark: _Toc462951621][bookmark: _Toc462951630][bookmark: _Toc465023135][bookmark: _Toc465023136][bookmark: _Toc465346829]Discussion
In the offline discussion, two options were discussed to solve the mismatch configuration of the ROHC as listed below:
· Option 1. Using fixed configuration, i.e., a transmitter and receiver are not always configured with the ROHC or a transmitter and receiver is always configured with ROHC.
· Option 2. Indicate the configuration of the ROHC in PDCP header, i.e., a transmitter indicates whether the ROHC is performed in PDCP header and a receiver performs the ROHC according to PDCP header information.

During the offline discussion, the companies showed the preferred option as the below table.
	Company
	Solution
	Comment

	LG
	Option 2
	If I correctly understood, some companies thought that the UE should be always configured with ROHC. However, according to the current specification, when the UE is configured with PDCP duplication, the UE is not configured with ROHC. In other words, the receiver UE does not know whether the transmitter UE is configured with ROHC or not. Thus, the mismatch configuration of the ROHC can happen.  In addition, from UE implementation point of view, Option 2 has more flexibility than Option 1.
Based on the above description, we prefer the option 2.
Additionally, we think that the fixed set of ROHC profile can be specified in RRC specification.

	OPPO
	Option 1
	Our interpretation of the online discussion is that companies tend to be fine to fix ROHC configuration, either ROHC will never be applied, or ROHC is always be applied, both seems feasible solution in our view.

	ZTE 
	Option1 
	Agree with OPPO's view. Besides, the solution that using a default ROHC configuration has been discussed in 87bis, to solve a similar problem. 

	Samsung
	Option1
	 We think that pre-configuration or default configuration of the ROHC will be applied which is known to transmitter and receiver.

	CATT
	Option 1
	PC5 transmission is not all based on RLC AM mode, from Rel 12 sidelink, only RLC UM is supported. So unlike Uu interface which can be precisely configured by the network, the PC5 ROHC configuration is not that reliable. So a fixed ROHC configuration may be the best way for introducing ROHC.



In summary, the four companies prefer the Option 1, and only one company prefers the Option 2.
Proposal 1. To prevent the mismatch configuration of the ROHC, the fixed ROHC configuration is used in V2X.

If the proposal 1 is agreeable, the next question is whether the ROHC is always configured or not. In our understanding, a default ROHC configuration can be used for it. Consequently, there is no ambiguity for ROHC configuration. 
Proposal 2. The ROHC is always configured based on a default ROHC configuration. 

However, it was agreed that the ROHC is configured only when the PDCP duplication is not configured. Thus, there is a case where the transmitter UE does not perform the ROHC. It means that the mismatch configuration of the ROHC between the transmitter and receiver UEs can happen. For example, when the transmitter UE transmits the packet without ROHC due to the PDCP duplication, the receiver UE may not know whether the transmitter UE is configured with PDCP duplication until the receiver UE receives the packet from the duplicated leg, i.e., secondary leg. Thus, there is a case where the receiver UE cannot know whether the transmitter UE is configured with ROHC or not. In this case, if the receiver UE performs the ROHC, the packet would be discarded due to mismatch configuration of the ROHC. 
[bookmark: _GoBack]To solve the above case, the straightforward solution is that the ROHC should be configured even if the PDCP duplication is configured. Therefore, RAN2 should revert the previous agreement that the ROHC is configured only when the PDCP duplication is not configured.
Proposal 3. The ROHC is configured even if the PDCP duplication is configured.

Based on proposal 1, 2 and 3, we provide the CR in R2-1902491.
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[bookmark: _Toc450908196][bookmark: _In-sequence_SDU_delivery]This contribution summaries the offline discussion to solve problem on the mismatch configuration of the ROHC. Based on discussion, we propose followings.
Proposal 1. To prevent the mismatch configuration of the ROHC, the fixed ROHC configuration is used in V2X.
Proposal 2. The ROHC is always configured based on a default ROHC configuration. 
Proposal 3. The ROHC can be configured even if the PDCP duplication is configured.


